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5200
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xRl Ll 679,050 679,050
ofl 20| Xt 678,550 678,550 7| 2 28 o F0[At 678,550,000
e 500 500 (kg & 7B 500,000
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1RFZ=ZH o A =0j| A = = & = == A
2+ =l =
M7l0 € X F 38,999,187 46,450,804 |- 7,451,617
FSKpa 46,379,977 46,494,804 |- 114,827
FSA= 45,975,241 46,094,804 |- 119,563 | -2021H T O|HAIZ 321,491,886
2021H T O|&XIZF (M 7|0l Z) 45,653,748,740
A 45,975,240,626
J|EtRSAE 404,736 400,000 4,736 | ZIEtRSAZ (MEHHAM FIMUHZ 2 S) 404,735,923
&5 7,380,790 44,000 7,336,790
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2. X & chel - Ml
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i3 — . :
1R 0 At 20§ A = & A & = A
2 &t =1
x| Z0| Xt 148,703 147,083 1,620
x| Zo| X} 52,984 146,583 93,599 | -Gl AI|XtQIF 9.382 | (244%) 37,520,000
DSed ZT|AHIZ 34.189 ¢ 8,941,100
O ERY] AT|XZ 1.639 ™ (Y44%) 6,522,800
A 52,983,900
Tl 95,719 500 95,219 | -H&A(ZE HEX22l) 95,719,000
&2 1,610,000 1,420,000 190,000
MEZ 1,610,000 1,420,000 190,000
TOUANAEES 1,610,000 1,420,000 190,000 gl Al gd ME 350,000,000
CEMYUY 2YpolZ ME 160,000,000
o3 EY *PALZ ME 640,000,000
DSYE 2oz ME 460,000,000
oA 1,610,000,000
of t|H| 40,461 40,461 -
of 1| H| 40,461 40,461 -




nt =
2t - = ApFGof &t =0f| & = Z At = a A
ofj5[H| 40,461 40,461
FX2b7 | EFRHAR] & 6,000 6,000
SXIRAX] &= 6,000 6,000
EXzetst - -
|| 2S5 FX & 1,000 1,000
NFSRdSE 5,000 5,000
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PSAPSasIE=FN-T 3,604,920 3,604,920 -
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Xt 7| ol & Xt 2 4,070,450 4,212,687 |- 142 237
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FsA= 3,744,572 3,791,590 |- 47,018 | -2022H = O|HX}Z 243,572,000
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_5140 S 2012.11.19 1,835,000 163,070 (HE2a)) 5HEHX|5 52,920
MRS Z 2| o 212.53% S
el 2. A74xl104
~8907 S 2013.12.30 1,340,000 938,000 (HE2a)) 5AHX[10 134,000
ARl CH b = o I 42 1% ]
1103 PN EIFSEON 2019.02.21 3,418,000 3,418,000 (H{=2a)) 5EAHX10H 3,418,000
et A 6,593,000 4,519,070 3,604,920

ju
a0
2

rio




J2EF=EH0|==SAA

.l

—

K

o
K

ok
1

r
ko)
Ir oo
ra :
o8
100
<
oo
710
=
T

pifd

7ol




